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A food chain is a link between plants and animals. It starts with a plant. The next
part of the link is a plant eater. When the prairie plants were uprooted, the animals that
depended on them lost their food source. So while the farmers produced more food for
people, they broke the animals’ food chain. For example, if a bird needs seeds to eat and
the plant is gone, that bird will not be able to survive. And the animals that ate that bird
won’t have any food, either.

A food chain is part of a bigger system called a food web. That web links the living
things in an environment. The herbivores in that system depend on the plants. If the
plants are removed, the herbivores cannot survive. Herbivores in Chicago include
rabbits, squirrels, and many insects. Long ago, they used to include bison and deer.
Today you will find some deer in some parts of this area, but you won’t find them in the
city.

When herbivores lose their food, they die out. Then the carnivores, the animals
that eat other animals, lose their food, too. Wolves used to depend on the deer for their
food. Without deer, the wolves lost their food. Foxes died out, too. They had hunted
birds, even catching ducks when they were on the side of ponds.

Remove just one kind of plant from an environment and you disrupt a food chain.
Plow up the land and you destroy the whole system.

What happened in Chicago? People moved in. They built homes. They built
streets. They took away land from nature. Look at this timeline and you’ll see how more
and people moved here. We don’t have the numbers for the bison or deer. But we know
that today there are no bison in Chicago, you will only find them at the zoo.

1880 The population of the city is 503,185; farms continue to expand
1890 The population of the city is 1,099,850

1900 The population is 1,698,676

1910 Factories expand in the city; population is 2,185,283

1920 The city’s population has grown to 2,701,705

1930 The city’s population is 3,376,438
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Choose the best answer for each question.

1. Between which years did the city’s 2. What were two effects of the Chicago
population add the most people? population change?

a. 1880-1890 a. more farms and less food

b. 1890-1900 b. more people and more animals

c. 1900-1910 c. more homes and more farms

d. 1910-1920 d. more building and less nature

3. Which of these are all herbivores? 4. What is a good way to classify many different

kinds of animals?
a. sheep, pigs, dogs
a. herbivores and plant eaters

b. wolves, deer, birds
b. omnivores and plant eaters

c. foxes, birds, bison
c. herbivores and carnivores

d. bison, squirrels, ducks

d. flying birds and swimming birds

5. Write your own answer to this question. List three different parts of the original food chain in
Chicago.

TEACHER NOTES: Develop Students’ Skills: Exercise Thinking

These questions have not been validated, so decisions about student’s achievement should not be made
based on their responses. They are intended to exercise skills. Recommended activities include: students
work in pairs to choose the best response; give students the questions without the responses so they
generate their own answers; students make up additional questions; students make up questions like these
for another passage.

Answers: You can remove this answer key and then give it to students and ask them
to figure out the basis for the correct response.

Item 1 2 3 4

Answer | b d d c

Question 5 is open-ended. Here is a suggested response.
Grass, birds, bison, squirrels.




